POLYCET OLD QUESTION PAPER

SECTION—III : CHEMISTRY

91. Which of the following is not a chemical process?
BoB 7763 SRma® B85 PN B2

(1) Rusting of Iron (2) Changing water into water vapour
20 ETPIGEo B> DB B0

(3) Mixing metal acid and base (4) Baking a cake
35900 08000 FBBVD EeodHes 88 &8oh

92. What is the value of X in the following balanced equation?
&5 808 &og BIr0DH SE;S° X Devsd Jod?
YH, + O, — XH,O
1 4 @ 3
@ 2 4 1

93. If Qis the heat energy, determine the nature of the reaction in the following equation :
8ot BIgRGD BRRaDS $85S° O BRIB &3 ¥8 o, & S8y BE) VearHo de3?
2C,H, +70, = 4C0O, + 6H,0+ Q

(1) Exothermic (2)  Endothermic
GHAIE YT

(3) Both (1) and (2) (4) Can’t be determined
(1) 08050 (2) Botir® Be0BSH0

94. In the equation given below, 100 g of CaCO4 and 73 g of HCl are used to prepare 18 g of H,O.
If 300 g of CaCO, and 146 g of HCl are used, then how many grams of HyO is produced?

CaCO, + 2HCl — CaCl, + H,0 + CO,

2% BSED SARADIE 35S° 100 [rwe CaCO, 58a50 73 rive HCI D &563rRodS 18 [wbne
H,0 D8y, a.53¢ 300 griwve CaCO, $8ak0 146 [rawe HCL D ¢3R0S ) rrswe H,y0

foeso)e:om?
1) 54 @ 36
(3) 300 4 146
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95. Which of the following is/are used to detect acidic or basic nature of a solution?
28 [Edes0 g, ey S 58 SeaTaed) 08065 808 TAS” BAD SIETAYE2

(1) Phenolphthalein (2) Metals
RSN Shrsoen

(3)  Universal Indicator (4) All of these
8|8 B8 D5

96. Which of the following metal liberates H, gas on reaction with NaOH?
808 S’ ) S50 NaOH & 585508 H,, 77atodd Do $i30872
(1) Zn (2) Ca
(3) Mg (4) Na

97. Which of the following can’t be used as X in the equation given below?

Acid + X — Salt+ CO, + Water
D BHDED SES° D Sorgo X e &d@rRosSsn?

(1) Metal hydrogen carbonates (2)  Metal carbonates
& &S TPy & 83en

(3) Both (1) and (2) (4) Metal hydroxides
(1) S080%» (2) Botsr S TEHR

98. Tooth enamel is made up with

toerep &0% Dorrel D8 B EOR &otod?

(1) calcium hydroxide (2) calcium phosphate
s*&aiho E’“LC"“EQ@ s*dabo @vfoq)es
(3) calcium oxide (4) calcium carbonate
s*oo &85 se@ao 56°)Ied
e N, &

99. What is the pH of the salt formed from weak acid and strong base?
m@?ﬂé?_oé 53320 208050 WO TS H0od bég&é ©5£:300 G308 pH Densd Jod Goenod?
1 3 @ 9
@ 7 4 S
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100. Who among the following did not propose atomic model?

BoB 7°86° H857e H30FTR HAFB0IS T 5K?

(1) Planck (2)  Schrodinger
08 @edoesd

(3) Bohr (4) Sommerfeld
6 2808 O

101. Which of the following electromagnetic waves has highest velocity?

e B Do EORD DesgSecHaros oo B2

(1) Violet (2) Green
& Sold SRV,

(3) Red (4)  All have same velocity
QB ) 2.8 Do EORATV0EH

102. Which of the following quantum numbers gives information about orientation of orbital?

808 TS’ D 575000 Bog)y @Byery B8 BRcIH0 180D BOAHERB?

(1)  Principal quantum number (2)  Angular momentum quantum number
D5 5250800 Sogg 3010 5355 BK 5°g080 oy

(3) Magnetic quantum number (4) Spin quantum number
@050 40820 D0 ?0035 $°¢080 Doy

103. The electronic configuration of element ‘S’ is
S’ 93 Jare¥o 033352’9)0&;5 Dog0
(1) 1s?2s22p53s23p* 2) 1s?2s22p®3s23p°
(3) 1s22s%2p53523p2 (4) 1s%2s22p%3s23pl

104. The maximum number of electrons that can be accommodated in a subshell with angular
momentum quantum number [ is

1 S°Bah (585318 5°g0er0 Sog)g SRS &8 s KBGO Ay Doy GotSBNN?

(1) 2n? (@) 2(2A+1)

@ 2 @ (2A+1)
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105. Which among the following is a non-metal?

808 =AS° 570 180306 :

(1) Potassium (2) Chlorine
FrerR0Ho £°8

(3) Silicon (4) Sodium
BN a&abo

106. Which of the following periodic classifications is not based on the atomic weights of elements?

808 T°RS° faresee BT o $81S'E B8 surese $8580 282
(1) Dobereiner’s law of triads

2855 ¥ NELoBo

(2) Newlands law of octaves
é)"’é@"éoc%‘\) 38 Qa0

(3) Mendeleev periodic table
200605 €589 DY

(4) Modern periodic table
3608 3585 begé
107. An element with atomic number 14 has a valency of
14 $855e0 Doy EORD Hareso @nE 3oy
1 1 @ 2

3 4 (4)

108. What is the family name of VII A group elements?
VI A g070) 5070570 GIo¥) 56002 T7:300 JE3?

(1) Alkali earth metals (2) Alkali metals
£65988 o 58 SFen

(3) Chalcogens (4) Halogens
oS g TS ey
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109. Which type of bond is formed due to transfer of electrons between two dissimilar atoms?

Bodhy K I SE8Te0DO 565 Qe)Lse‘;S B7BG S0 5 850D 00650 fbéo)d.)é)o&?

(1)  Electrovalent bond (2)  Electrostatic bond
Qoé‘jm@oeﬁ 2050 ot DS 2060

(3) Ionic bond (4)  All of these
90I°E 0G0 E_)X)ﬁ)cl

110. Which of the following is correct regarding the melting points of ionic, polar covalent and
non-polar covalent compounds?

808 TRS” 0SS, ¢y HoGIEIK B e FOBIEIAD SETe Y, BAADD FpTre Hgs
D020gTR) VBT BIV0SIB 587
(1)  Polar covalent > ionic > non-polar covalent

&yd Ho@reesdoh > 9oty > Clay HodBreesdah

(2)  lonic > polar covalent > non-polar covalent

@0 > By Ho@TEAON > &S HoBIrEIAD

(3) Ionic > non-polar covalent > polar covalent

0L > ety Jo@Brwdoh > &y HDod@reesdoh

(4)  All have same melting point

o) a8 (5SS 30 8OR oeron

111. What is the hybridization in H,O molecule?

H, 0 e9ea03) Gaos 508855830 2872
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112. Which among the following theories explained both shape and strength of the bond in covalent
compounds?

Bo@rEaD SErge o, esgEes 50805 208 $5e K80 D580 Jegoso 82
(1)  Electronic theory of valency
Sody o dgrogo
(2) Valence Shell Electron Pair Repulsion theory
VSEPR E’oa@"oeéo
(3) Valence bond theory
Soﬁb 08 dTROBo
(4)  All of the above
:.zé')x)cldi)f’
113. Highest abundant metal in earth’s crust is
g0 Seeos edBsor oo &iro 82
(1) Al (2) Au
(3) N, (4) Fe
114. Which of the following is not a sulphide ore?
808 S 38)E e 5B 282

(1) Pyrolusite (2) Galena
28%euged RO

(3) Cinnabar (4) Copper iron pyrites
226 555 28D DB3D

115. Which of the following ores undergoes roasting?

D Y 83850S° 002

(1)  Carbonate ores (2) Oxide ores
S"S‘bf)es D) &93‘35 TS

(3) Sulphide ores (4) ATI of these
mg)& D) ;:3:)&)4

116. Which of the following metals liberates H, on reaction with steam but not with cold water?
$ged D38 BBy 0BG, Ded 288 BBg"08 H,y 300509 éocse DD Shro 82
(1) Pb (2) Na
(3) Fe (4 K
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117. The number of sigma (o) and pi (n) bonds in C,H, molecule is
CyH, oenns’ &od drmy (0) DB D (1) o5 Sogy

(1) 3 sigma and zero pi (2) 3 sigma and 2 pi
3 ?)n'*’& 20Bain T D 3 %n"& S0Bosw 2 2
(3) 2 sigma and 3 pi (4) 4 sigma and 1 pi
2 ?)n'”& 06aio 3 2 4%7\"’&53380533 12

118. Which of the following is not a conductor?
BoB 7S Doy TS0 528 B2

(1)  Graphite (2) Carbon nanotubes
ed 85O & Towren

(3) Diamond (4) All of these
Sieso D5

119. Which of the following is an unsaturated hydrocarbon?
808 T°RS° 50D TPE'S G 9D 2

(1) Butane (2) Butyne
(3) Isobutane (4) Cyclobutane

120. What does an oxidizing agent do?

es8y5°Beaen D BA0?

(1) It reduces other substance and itself undergoes oxidation
2888 bwc@*’o;@o o880 F080D 9D &s%éés’r&)g fablo ) ailo VY

(2) It reduces other substance and itself undergoes reduction
Eolile] DTEOD EaDH88£00 DoB0D €9 FoHESeTIS HSHBE a0

(3) It oxidizes other substance and itself undergoes oxidation
B8 D TOLE S0 3080 8D &8 88T HEHE N

(4) It oxidizes other substance and itself undergoes reduction

2888 K)t:s“%*’e);éo esgaéésao DoB0Y 99 EoHEserdE HHTEran
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